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HoOflf =%

THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
e
= 1 200, 311, 082
T e R T
= 1 194, 089, 558
E¥LT
= 1 1, 699, 558
R L
= 1 192, 390, 000
SRS (A) A5HR! JRMRERAARR S 35, Om JE
AE 34.0m
e 14 1, 749, 000 24, 486, 000
SRS (B) A5HR! JRIREAAARR S 35, Om JE
AE 34.0m
e 14 1, 736, 000 24, 304, 000
SRS (C) A5HR! JRIREAAARR S 37 Bm JE
AE 36.5m
e 4 1,927, 000 7,708, 000
SRS (D) A5HR! JRIRERAARR S 37 Bm JE
AE 36.5m
e 3 1, 926, 000 5, 778, 000
SRS (E) A5HR! JRIREAAARR S 38. Om JE
AE 37.0m
e 33 1, 942, 000 64, 086, 000
SRS (F) A5HA! JRIREAAAR S 38. Om JE
AE 37.0m
e 34 1, 942, 000 66, 028, 000
fFHFE R T
= 1 715, 384
TAT 7 MifZE T
HLE AR (A)
= 1 284, 684
& e (e - D) FAITyvTy RC-30 {0 E 110
mm
m2 97 643. 8 62, 448
- R (B - BRI RIEEFIR A M-30 {1 =V E 70
mm
m2 97 599. 1 58, 112
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
FE (FaE - B BRI T AT (13) 3 40m
m 3. Omtd
m2 97 1,692 164, 124
TAT 7 MifZE T
HLE AL (B)
= 1 219, 960
FE (FaE - B BRI T A (13) A3 40m
m 3. Omtd
m2 130 1,692 219, 960
18T
= 1 26, 568
7" VR AN 250 X 250
15 i - BakE
m 4 6,161 24, 644
S B250H L=1000 /0
Vv=FrT R TR E
bie 4 481.2 1,924
i L
= 1 184, 172
RHEBER T ny) BFE (180/205 X 250 X 600)
BB-1-3 (200) # Z= % &
m 41 4, 492 184, 172
HEE L
= 1 152, 502
e B LT
= 1 126, 483
AR BT TAT7VMHZERR 15emBl
m 8 547 4, 376
BB TAT 7RSSR SHEERRE 15emPl
m2 230 530. 9 122, 107
TEALER T
= 1 26,019
PRauRiiig TAT 7 Wbk
m3 9 1,716 15, 444
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
ALy TAT 7 Wbk
m3 9 1,175 10, 575
Gan
= 1 5, 353, 638
THHER T
= 1 227, 842
- 8F - B T
= 1 666, 496
VESEY-D Hei T
= 1 2, 267, 470
R L
= 1 2,015, 145
1R IE T
= 1 176, 685
B TR
= 1 200, 311, 082
MR E
= 1 18, 770, 600
B3 TS
= 1 4, 161, 600
TR
= 1 2, 299, 600
TR AR T 3 1=
= 1 2, 245, 000
IR TR 10. 4t
= 1 54, 600
BIGREsET (K30
= 1 1, 862, 000
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HIMGERE (FE L)
= 1 14, 609, 000
Wi
= 1 219, 081, 682
B
= 1 51, 842, 000
T AT
= 1 270, 923, 682
— R
= 1 40, 486, 318
TS
= 1 311, 410, 000
THEBLFH Y %H
= 1 31, 141, 000
TH#&G
= 1 342, 551, 000
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